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I % - # H £} % k=1 = BRETHE | B | R
BRHBR 1 S
EELT 1 1 =
fEHIT 1 S
R 18 #-7"vhyh 5,000m3%K AR EETHE 285.1+206.3 4914 490 m3
#FELT 1 1 =
FRiEY 15 FHRETIER ImEL E2mkiE FAEBMBAHEE 2156+34.8 250.4 250 m3
FRIEY 18 ERLSMMERD) FAEBMBAHEE 31.2+1.8+170 50.0 50| m3
BERL LERUSCNIE) L7 RBEETHEE 71.0+8.9+15.8+1.1+5.6 102.4 100 m3 |fRAL
#RL ERUSCNRE) L7 AEMEETHE 15.4+45+2.9+0.2 23.0 20 m3 |BAL
HIunET 1 1| =
TREE 1F 08m3 BF~REH1OkmLT 491.4 490[ m3
TREE 1 045m3 BIH~{REIH1.0kmELT 250.4 250/ m3
TREE 1 028m3 BIH~REIH1.0kmELT 50.0 50| m3
TREE 1F 028m3 REH~I]IG 1.0kmUT 102.4 100| m3
TREER 15 08m3 REH~Ls 491.4+250.4+50.0-102.4 689.4 690 m3
HIFWS TE MEL 689.4 690 m3
BEYRET 1 1 =
HBEMRELT 1 1 =
Rl FAITILMAEERR 15cmEL T BEYREINERE 2528 5.3 5 m
SHEhR R TATPIMEERR SERESem A BEMRETIHERE 199.9+2403 440.2 440 m2
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WH-MEEMEUEL |EmHEEY BEET BEYREIHERE 235 241 m3
WH)-MEEMEURL  (SmEEY #EET BEMBEIRERE 5.7 6 m3

EfRnET 1 il =
RRIE FAITINE BEMBETIHETE 199.9%0.03+240.3%0.05 18.0 18| m3
muns FRI7MAGE 18.0 18| m3
RRIE I -FERRE) BEMBEIRERE 235 24| m3
muns VIR C:3 ) 235 24| m3
RRIE I -FEREER) BEMBEIRERE 5.7 6| m3
muns VIR (€537 5.7 6] m3

HBRBBRT 1 1 =

BRZELET 1 1 =

REME BEAFESImET 10317t/100m2[iR& ] |RIEHEHEE 24.7 25| m2
FEEHNH| B
Hk#EEmT 1 1 =

fiET 1 1 =
BHAERAE 300%300 2.2+6.9 9.1 9 m |HtErE
BHAERAE 300%300 HE I 4% 24 24.0 24 m |#tErA
BHAERAE 300+400 18.0 18.0 18] m |HtErA
BHAERAE 300%400 HE % IE 4% 19.7 19.7 20 m |#tETA
BHEAERAE 400%500 5.8 5.8 6| m |HtErA
BHAEAE 400%500 35 35 4 m |tEEA
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EHRAERE 700%500 78.0+20.1 98.1 98 m |HtETA
EHRAERE 700%500 25 25 3| m |#EERA
EHRAERE 700%600 40 4.0 4 m |HtEA
EHRAERE 700%700 20 20 2| m  |HEErAE
BHAERAE 700%800 1.9 1.9 2| m |HtEA
&= B300 1Y)-+E $HERA (9.1+24.0+18.0+19.7)/2-2.0 334 3| &
flEE B300 1v9)-bE EHER 2.0%1 20 2| &
lES B300 ¥'L-Fu9E T-2 #HE (9.1+24.0+18.0+19.7)/2 354 35| ™
RIES B400 1v4Y-t& SHiER 5.8/2 29 3| &
fiE= B400 7'L-FUU'E T-2 #B 5.8/2 2.9 3| &
fliEE B400 H'L-FU'E T-25 #E MR [3.5/2 18 2| %
fliEE B700 1v9-FE SR (98.1+4+2+1.9)/2-4.0 49.0 49|
fliE= B700 1v4Y-F'%E EEHA 2.0%2 40 i =&
fiE= B700 4L-Fu7%E T-2 #iB (98.1+4+2+1.9)/2 53.0 53| &
fliEE B700 S'L-7v9'% T-25 #IB MR |2.5/2 1.3 1| #%
E3TIV)Y-+ 18-8-25BB RFEBEETHEE 1.0+1.0+1.0+0.4 34 3] m3
E3TIV)Y-+ 18-8-40BB AR EEEE 1041 10.1 10| m3

SKk#-IvE-LT 1 1 =
PAZEONN- /S [1700%1000 3 3| &P
PAZEONN- /S [1400%660~710 2 2| &P
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PAZE VY STV 400%400 #t#EsH:- A 14.4 14| m
AR Zdx ®TVEoE S 400%400 HEFEOHET 1 11 =
HIIV))-h 1.0 1| &

Rz T 1 11 =
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I3kt 3 ] 1 il =
EELT 1 1 =
fEHIT 1 il =
R 18 #-7"vhyh 5,000m3%K BIARSEFEE 222.1+45.4+157.2 4247 420 m3
#FELT 1 1 =
RHEY T8 ERUSUNRE) BIRMEETEE 34.6+43.3+58.7+15.8+8.4+(7/10%63.4) 205.2 210 m3
HEL FEUSONERE) TR AR EETEE 22.8+69.1+37.9+3.4+2.4+(5/10%63.4) 167.3 170 m3 |RAx
BERL LERLSOMERE) L8 AEHEEFHE 65+4.8 1.3 10| m3 [BAL
HrumET 1 1 =
TREE 18 08m3 BUS~REISIOmLT  |424.7+278.1 702.8 700/ m3
TREE 15 028m3 BIH~REIH1.0kmELT 205.2 210 m3
TREE 1F 028m3 REIH~IJRIGI0kmLLT 167.3 170| m3
TRYEER T8 08m3 {REH~N 424.7+278.1+205.2-167.3 740.7 740 m3
HrENS TR MEt 740.7 740 m3
BEYRET 1 S
HEMRELT 1 S
SR FAITMMEESERR 156mEAT BEPREINEHRE 172 17 m
R FATFMEHEERR SR RRIE 150m LR BEPREINEHRE 174 17| m2
WY -MEEMEEL  |EHEEY HEET BEMBEIRERS 9.3 9 m3
WH-MEEMBUEL  (S5HEEY EHET BEPREINEHRE 4.2 4 m3
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EfRnET 1 il =

RRIE FAITILNE BEMBETIHERE 17.440.05 0.9 09 m3

muns FRI7MAGE 0.9 09 m3

RRIE YRR RS) BEMBEIRERS 9.3 9 m3

muns VIR C:3 1) 9.3 9 m3

RRIE I -FEREER) BEMBEIHERE 4.2 4| ma3

muns IHY-PERERRR) 4.2 4 m3
fEEET 1 11 =
SRTITHERE T (&M E D) 1 1] =

INBY R RE H500~940 18-8-40BB BHEFTEE 5.1/10%32.65 16.7 17] m3 |13

INEY R R H730~740 18-8-40BB BUMEBFEE 4.3/10%8.50 3.7 4 m3 |2%!

INEY R R H545~740 18-8-40BB BHEETEE 3.0/10%65 2.0 2| m3 [3&

INBY R RE H500~984 18-8-40BB BEUHMEFHEE 2.9/10%3.5%2 2.0 2| m3 [RB—TH

Xin it

7 UEvAMERET

T VEvAMEEEE H1000 EHFEH HLIVY)-ME 12.7 127 m | Riaft

7 LAvAMEEEE H1100 EHFEH HLIVY)-ME 14.0 14| m |XiGmtt

7V v A MEEE H1200 EHFEH HLIVY)-ME 4.0+8.6 12.6 126 m |XKiaft
PEZTE 1 1=

L4 T 1 1 =

©#8- AEGI AR LA [H1800 @2000 5.0+32.3+6.9+58.7 102.9 103 m
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ERERI)-L 300%600 63.4 63[ m
FRFE H800 1 1| =# [L=3@2000

HitHF AT
HIFHR AL ®1143 H700 ETF=z 1.0 1.0 NE:S
HIFHFE AL F9E! 1000%800 fHiE= 1.0 1.0 1 &

HoKBEY T 1 NS

fl;ET 1 NS
BHAERAE 300%300 9.5+35.4+11.3+16.2 724 72 m
BHAERAE 300%400 38.2 38.2 38 m
fliEE B300 1v/U-tE HEM (72.4+38.2)/2 55.3 55| &
fliEE B300 7'L-FU9'E T-25 EiEH (72.4+38.2)/2 55.3 55| &
E$Tav9Y—+ 18-8-25BB AEHEEFHE 05+15 2.0 2| m3
VA% & ZNCE:<E : - PU1-450 6.6+13.1 19.7 20 m

k- k-1 T 1 1| =
TUErANEKHE 600%700+800 1.0 1| &
PAZEONN- /S [1500%675~725 1.0 1| AT
BISITH K 0.26m3%#2%0.28m3LL T 18-8-40BB 1.0 1| EFr |Edhit
BIHTH Sk 0.30m3%##%0.32m3LAF 18-8-40BB 1.0 1| BT |HEsn

HET 1 1 =

TAITMMRET 1 1 =
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I 7& #w B b #® g = RETHE | B | B
TREMREEE BB |BEFAERC-30 4t YE:100mm R FERESEE 153.3+66.4 219.7 220 m2
T EHRAR(EE - IRE L) | B A REM-30 4L YE:100mm R FERESEE 153.3+66.4 219.7 220 m2
=REEE -BEE BAETHEAs13 S%EE 50mn R FERESEE 153.3+66.4 219.7 220 m2
1.4mLL E3.0mEK
T BRI EER) B4 FAERC-30 {+ £ YE:100mm RE&HE 21.4 21 m2
RECHELR) BABHEASS SRR 30m 1.4m%E |RESE 21.4 21 m2
HEMERAT 1 1 =
T BRI ER) B4FAERC-30 £ YE:100mm 6.5+8.7 15.2 15[ m2
T ERRERCHEE) BAERAM-30 £ L YE:110mm 6.5+8.7 15.2 15| m2
KEB(EEE BREER BETHEASS SEE 40mn 1.4m%%  [6.5+8.7 15.2 15| m2
VY- MEET 1 11 =%
TERBECGER) BAFRARC-30 1+ YE:100mm 6.5+8.7 10.1 10| m2
V9 - M 18-8-40BB t=100 6.5+8.7 10.1 10| m2
XE#RT 1 11 =R
ARARELR Eg15cm KEFAXR ZHE1.5m 23 23.0 23] m
HEKESHEE
AR RELR KEN-EEB-XF 15emE REARRME |1.5%1.2 1.8 2l m |[BIXEZEE
FfE1.5mm HEK S 8 L=1.5m
TEMT 1 11 =%
BEEREIRT 1 NES
BHiFITHA0-7 1.0 1| EFRr
X REavs)-+ 18-12-25BB 1.0 1| &Fr
T REavy)-+ 18-8-40BB 13.1 13] m
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I & - ## £} 1% k=1 = BRETHE | B | R
ERHEKIER VU ¢ 100 3.0 3| @Fr
TEEEY 1 S
HItFE 600+110%80/185 2{E /R 2.0 2| &
EhREE PUPTS = 11.4 1 m
ERMHE 1180%110 1.0 1l =R
&R R E 300%1200%320 1.0 1| &
BRI 0y SHEBEERI0yBIE AER 335 4| m
EAIERT 1 1 =
T LAvAMERE T
7V A MRS H1000 EBEFHEA HLIVY-MF HESE 2.0+20.4+8.0+11.7+10.7 52.8 528 m
7 LAvAMEEEE H800 EMMEH HLIVY-ME HmS®E 95+11.9+10.0 314 314 m
T UE A MRS H800 EMMEH HLIVY-ME HESHE 79 7.9 79] m
Rz T 1 1 =
REEET 1 11 =
RBFEEZERE RBFHEHREB 1 11 =
TKEISE 1 S
EELT(HHAD 1 1 =
ERLT 1 S
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~ + T %z £ &t ] =
48 < M R IE (R R A ) _ _ _ _ _ No.1
Rl FEIEYAm=W<2m) HELOmW) FREL HRELOmW) BAL
Al = XREEERE | Br m | £ 9 | i B | BrmE | F B | i B | WBm|E|FHW| I B|BE|FEH| I B
Wr m Br @ Wr m Br @
NO.O + 9.400 - 46 - - 1.9 - - 0.5 - - 0.1 - -
NO.0 + 20.000 10.6 3.8 4.20 445 1.9 1.90 20.1 0.5 0.50 5.3 0.1 0.10 1.1
NO.0O + 31.500 115 3.8 3.80 437 1.9 1.90 21.9 0.5 0.50 5.8 0.1 0.10 1.2
NO.0 + 31.500’ - 3.2 - - 1.9 - - 0.7 - - 0.1 - -
NO.0O + 40.000 8.5 3.2 3.20 27.2 1.9 1.90 16.2 0.7 0.70 6.0 0.1 0.10 0.9
NO.0 + 60.000 20.0 3.4 3.30 66.0 1.9 1.90 38.0 0.5 0.60 12.0 0.1 0.10 2.0
NO.0 + 80.000 20.0 3.2 3.30 66.0 1.9 1.90 38.0 0.7 0.60 12.0 0.1 0.10 2.0
NO.1 + 0.000 20.0 0.2 1.70 34.0 1.9 1.90 38.0 0.7 0.70 14.0 0.2 0.15 3.0
NO.1 + 18.400 18.4 0.2 0.20 3.7 1.9 1.90 35.0 0.7 0.70 12.9 0.2 0.20 3.7
285.1 207.2 68.0 13.9
INE 109.0
NO.2 + 29.700 - - - - 1.1 - - 0.4 - 0.2 -
NO.2 + 37.300 7.6 - - - 1.1 1.10 8.4 0.4 0.40 3.0 0.2 0.20 15
8.4 3.0 15
INE 7.6
285.1 215.6 71.0 15.4
5 i 116.6
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2
1B fRRERAAD _ _ _ _ _ No.2
HEHl FRAEY (1 m>W) _ERELImW) fiit _ERELImW) BAT
A = XREEst | B m | F B | X2 B | W E|F®H| L E| RBE | FY EiE B8 | F 1 i
B @ BT E g 8 e 8
NO.1 + 82.200 - 55 - - 0.7 - - 0.2 - - 0.1 - -
NO.2 + 0.000 17.8 55 5.50 97.9 0.7 0.70 125 0.2 0.20 3.6 0.1 0.10 18
NO.2 + 20.000 20.0 3.2 4.35 87.0 0.7 0.70 14.0 0.2 0.20 40 0.1 0.10 2.0
NO.2 + 26.700 6.7 3.2 3.20 214 0.7 0.70 4.7 0.2 0.20 13 0.1 0.10 0.7
206.3 31.2 8.9 45
a2 & 44.5




B # = it g £
48 < A IR IR (R R £ 1) _ _ _ _ No.1
HEHI ERIEYIm=W<2m) HELOImOW) #A HELOImOW) BAT
Al = X 1 BE B i Brm | F® | i B | B @ | FEH OB | B mE | FY®| I
B M Br M B m W M
NO.O + 99.800 - 0.9 - - 04 - - 0.1 - -
NO.1 + 18.300 18.5 0.9 0.90 16.7 0.4 0.40 7.4 0.1 0.10 1.9
16.7 7.4 1.9
NEt 185
NO.2 + 26.400 - 2.7 - - 1.1 - - 0.2 -
NO.2 + 31.400 5.0 2.7 2.70 135 1.1 1.10 5.5 0.2 0.20 1.0
NO.2 + 31.400° - 0.8 - - 0.5 - - - - -
NO.2 + 37.200 5.8 0.8 0.80 4.6 0.5 0.50 29 - - -
18.1 8.4 1.0
INE 10.8
34.8 15.8 2.9
5 i 29.3




+ I # = F g £
18 F PR IR (R R A ) _ _ No.2
Rl ?E"J(1m>W) EELOmW) mAL ERELOmW) BAT
B oA XfEEet | Br @ | F 9 | X2 B | W mEm | F 9 | i1 7 BE | F % mEiE BgE | F 1 i
Br @ Wr @ g 8 g 8
NO.2 + 24200 - 0.8 - - 0.5 - 0.1 -
NO.2 + 26.400 2.2 0.8 0.80 1.8 0.5 0.50 1.1 0.1 0.10 0.2
- 1.8 1.1 0.2
5 2.2

op
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7" VEeAbEEK#E  [2900 x 1000 x H930[1. 010 10.0 = 10.0
¥ LavhY-+ 18-8-40BB _|3. 40%1. 60%0. 10%10 5.44 =| n° 5.4
B #Lavh)-b | (3.40+1. 60)*0. 10%2%10 10.00 =| ni 10.0
A RC-40  [3. 40%1. 60%0. 20%10 10.88 =| n’ 10.9
HEEE A [3.40%1. 60%10 54.40 =| m 54.4
EFTHI9Y-h | 18-8-40BB 2. 90%1. 00%0. 10%10 2.90 =| n° 2.4
RiAKIVY - 18-8-40BB | (3. 30%1. 50-2. 90%1. 00) *0. 20%10 4.10 =| n° 4.1
(3.30+1. 50) *0. 2%2%10 19. 20
nh SEARIEY | (2, 90+1. 00) %0, 15%2%10 11.70
19. 20+11. 70 30.90 =| m 30.9
73 1] D13 SD345 |3.100%4%10%0. 995 123.38 =| ke 123.4
gy E | ewnGoEe |10x10 10.0 =| #8 0.0
saaNEH IR | s
Y ‘ I \TV J H R o
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EA S . r EE e o
E.i‘ i I t::: §§ \m u‘?w
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1700 x H1000
7 LivAbEEki | SEEE946ke [1. 0%10 10.0 =| & 10.0
¥ Lavyy-+ 18-8-40BB [1.07x1. 07%0. 10%10 1.14 =| m 1.1
iy BLavhy-+ |1.07x0. 10%4%10 4.28 =| m 4.3
EHEH RC-40 1.07%1. 07%0. 20%10 2.29 = 2.3
HEmEIE ARB 1.07%1.07%10 11.45 =| m 11.5
_ 3
E4TB -+ |18-8-40BB 0. 7x0. 7x0. 45010 221 =| ' m 2.2
(0. 428+0. 436+0. 485) /3 0. 450
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¥Lavy- 18-8-40BB |0. 71x0. 71%0. 1010 0.50 =| m’ 0.5
B B Lavy)-+ 0. 71%0. 10%4%10 284 = m 2.8
EiEt RC-40  [0. 71%0. 71%0. 15%10 0.76 =| m’ 0.8
HEEIE AR 0. 71x0. 7110 504 =| m 5.0
_ 3
ET 51000} 18-8-40BB 0. 4%0. 4%0. 118%10 0.19 = m 0.2
(0.115+0.120) /2 0.118
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HEL (5. 38%3. 58+4. 30%2. 50) /2%1. 08 16.21 =
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